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NoTE:— The maximum marks printed on the question paper are applicable for the students of the
regular colleges (Cat. A). These marks will, however, be scaled up proportionately in

respect of the students of NCWEB at the time of posting of awards for compilation of
result.
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Attempt all questions. All questions carry equal marks.
Simple calculator is allowed. .
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1. a) Explain the meaning and utility of P/V ratio.

b) The following records are given below with regard to three products of a company. .-
Determine which is most profitable of these by calculating P/V ratios:
Product X: Fixed cost Rs 6,000; Breakeven point Rs 30,000 and a profit of Rs 1500
Product Y: Fixed cost Rs 9,600; Sales Rs 25,200 and profit Rs 3,000
Product Z: Variable cost Rs 20 and contribution Rs 5.

4.7
: Or
How do you treat the following in Cost Accounts:
1) Abnormal Idlé time
i1) Scrap.
ii1) Defectives 344
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2. Distinguish between:
i) Payment by time and Payment by result
i) Scparation Mcthod and Replacement Method
iii) Re-order level and Re-order Quantity
br -
a) What is Machine Hour Method? Why is it calculated?

b) Work out the Machinc hr ratc for the following Machine for the month of Jan -

Cost of machine ~ Rs 90.000
Other charges e.g. [reight and installation ‘Rs 10,000
Working Life - : 10 Years

Working llours
Repair charges : :
Power 10 units per hour @ 10 paise per unit
Lubricating Oil @ Rs 2 per day of 8 hrs
Consumable Stores @, Rs 10 per day of 8 hours :
Wages of operator @ Rs 4 per day 4.7

frfafas & kR saarRe— ‘

() SHATTER et 3t afoms & srear W sErh

(ii) R fafy sk sfmme fafy

(iii) T R TR AR G FRY A7 |

- (3rgE)

2,000 per year
50% of Depreciation
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3. In a factory. works overheads are absorbed @ 60% of labour and office expenses (@ 20%
of works cost. 10% of the output is in the stock and sales total up to Rs 5,10,000.

Assume that in the financial accounts the closing stock is valued at works cost.
The total expenditure is as follows:

Materials Rs 2,00,000
.abour Rs 1,50,000
Factory Expenses Rs 98,000
Office expenses Rs 85,000
Total ' Rs 5,33,000

You are required to prepare:
i) Financial Profit & Loss A/C
11) Cost Sheet '
iii) Reconciliation Statement 344
Or
a) What do you understand by time keeping? State the time keeping methods adopted
in a factory and discuss any one of them.

b) The output of process A was 2.500 units. Normal loss allowed was 10% of input
Abnormal Loss was 200 units.

Material @ Rs 5 per unit
Labour Rs 4,000
Overheads etc Rs 3,350
Wastage rcalised Rs 2.50 per unit
You are required to prepare Process A A/C and Abnormal Loss A/C. 4.7
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4. a) What do you understand by Overheads? How are overheads classified?

b) Following particulars related to the production department of a factory for the month
of June 2013 are given:

Direct Materials ' Rs 80,000
Direct wages : ' Rs 72,000
Overhead charges allocated to the department Rs 90,000
Hours of Machine operation 25,000
Direct labour hrs worked 20,000

Cost Dataof a particular work order carried out in the above Department during June
arc given below: :
Material used Rs 8,000 Direct wages Rs 6250
Labour hrs booked 3,300 Machine hours booked 2.400.
Show through a statement of [Factory Cost, what would be the factory cost of the work
order under the following methods of charging overhcads:



i) Direct Labour Cost Rate
ii) Machine Hour Rate and
iii) Direct Labour Hour rate 4.7

Or
a) The following information relates to a transport company.
Number of Buses b
Days opcrated in a month <~ 38

Capacity of each bus 40 passengers

Distance.of route

Round trips made by each bus

Average capacity used 80%
Calculate:

i) Total kms run

i1) Total passenger kilometers

100 kms(onq way)
2

b) “Cost Accounting System is neither unnecess

ary nor expensive; rather it is a
profitabic investment.” Comment. .

4,7
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5. a) Distinguish between the terms Budget and Budgetary Control and discuss bricfly the
objectives of Budgetary Control.
b) PK & Co produce 4,000 units per month of

a certain product at 100% capacity. The
following information is obtained:

August September
Units produced 2,800 3.600
Repairs & Maintenance (Rs) 500 560
Power 1,800 2,000
Shop labour 700 900
' Consumable stores - 1,400 1,800
Salaries : 1,000 1.000
Inspection : 200 - 240
Depreciation ' 1,400 1.400

Rate of production per hour is 10 units. Direct material cost per unit is Re 1 and direct
wages per hour is Rs 4.
You are required to compute the cost of production at 100% and 80% capacity showing
the variable, fixed and semi variable items under the flexible budget. 4,7
Or :
a) What is Flexible Budget? How is it more useful than Fixed Budget?
b) XY 1td has an annual production of 90,000 units of a motor component. The component
cost structure is given below:

Materials Rs = 270 per unit
Labour (75% lixed) Rs' 180 per unit
Expenses: Variable Rs 90 per unit
Fixed Rs. 135 per unit

Total Rs 675 per unit

The purchase Manager has an offer from a supplier who is willing to supply the
component at Rs 540. Should the component be purchased and production stopped? 4.7
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